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9.  “Extended Producer Responsibility” (EPR) is a policy approach under which producers are given 
significant responsibility for the treatment or disposal of post-consumer products. In India, EPR is 
associated with which of the following?   

 1. Recycling of Single-use plastics          2. E-waste management       3. Disposal of nuclear wastes  
 Select the correct answer using the code given below.   
 (a) 1 only   (b) 1 and 2 only   (c) 2 only   (d) 1, 2 and 3  
10.  Arrange the following amendments to the Indian Constitution in the correct chronological order  
 1. Including Konkani, Manipuri and Nepali as official languages.  
 2. Including Bodo, Dogri, Santali and Mathili as official languages.  
 3. Constitutional Status to Panchayat Raj Institutions.  
 4. Right to Education made as a Fundamental Right.  
 Select the correct answer using the code given below.  
 (a) 1 – 2 – 3 – 4   (b) 1 – 3 – 4 – 2   (c) 1 – 2 – 4 – 3   (d) 1 – 4 – 2 – 3   
11.  Which of the following have been carried out during the period of Indira Gandhi led Government?  
 1. Rise in the retirement age of High Court judges from 60 to 62.  
 2. Abolition of Privy Purse concept.  
 3. Increase in the size of Parliament from 525 to 545 seats.  
 4. Reduction in the voting age from 21 to 18.  
 Select the correct answer using the code given below.  

(a) 2 and 3 only   (b) 1 and 4 only  (c) 1 and 2 only   (d) 1, 2 and 3 only  
12.  When an Amendment bill, passed by both houses of the Parliament, has been sent for the ratification by 

the states, then   
 1.  The State Legislatures should ratify the bill within the stipulated time frame mentioned by the Parliament.  
 2.  The State Legislatures should ratify the bill with the special majority only.  
 3.  The State Legislatures should obtain the approval from the Legislative Council in case it is bicameral.  
 Select the correct answer using the code given below.  

(a) 1 and 2 only   (b) 2 and 3 only   (c) 1, 2 and 3    (d) None of the Above   
13.  Which of the following provisions could be considered as the “Basic Structure” of the Indian 

Constitution?  
 1. Free and Fair Elections   2. The dignity of the Individual   
 3. Socio-Economic Justice  4. Access to Justice  
 Select the correct answer using the code given below.  
 (a) 1, 2 and 3 only   (b) 2 and 3 only   (c) 2, 3 and 4 only   (d) 1, 2, 3 and 4  
14.  Who among the following is the returning officer for the President and the Vice President elections in 

India?  
  (a) Secretary-General of Lok Sabha or Rajya Sabha   (b) The Presiding Officer of the Lok Sabha  
  (c) Central Election Commissioner   (d) Chief Electoral Officer of Delhi   
15.  “No taxation without Representation” is one of the important principles of Indian democracy. Which 

one of the following statements has rightly described this principle?   
  (a) While fixing the tax rates, the executive authority must consult it with the people  
  (b) The Taxes must be collected in just and fair rates through the transparent manner  
  (c) Only the Parliament has the authority to impose the tax in the economy  
  (d)  There must be a well-established grievance redressal system in the tax administration  
16.  Consider the following statements:  
 1.  No person is to be ineligible for inclusion in the electoral roll on the grounds only of religion, race, caste, 

sex or any of them.  
 2.  No person can claim to be included in any special electoral roll for any constituency on grounds only of 

religion, race, caste or sex or any of them.  
 Which of the statements given above is/are correct?  

(a) 1 only  (b) 2 only  (c) Both 1 and 2  (d) Neither 1 nor 2  
17.  Consider the following statements about the Bose-Einstein condensate, the fifth state of matter:  
 1. They are not naturally found on Earth’s surface.  
 2. It is formed when atoms of certain elements are cooled to near absolute zero degrees.  
 3. It behaves as individual atoms and particles instead of acting as a single entity.  
 Which of the given statements are correct?  

(a) 1 and 2 only   (b) 1 and 3 only  (c) 2 and 3 only  (d) 1, 2 and 3  


